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Part: A 

1: How is a community string used by IBM Tivoli Application Dependency and Discovery 

Manager V7.1? 

A.to authenticate Apache servers 

B.as an access credential for SNMP devices 

C.to access only non-Cisco network devices 

D.as a base value to encrypt passwords in collation.properties 

Correct Answers: B 

 

2: Data level security has been enabled on an IBM Tivoli Application Dependency and Discovery 

Manager V7.1 (TADDM) server. Access Collection 'AC1' contains all Linux Computer Systems. 

'User1' has access to AC1 and AC2, an Access Collection of Oracle databases. A discovery finds 

new Linux computer systems. Which statement is true? 

A.User1 receives notification of the new Linux computer systems. 

B.AC1 is flagged and the administrator must reset the Access Collection. 

C.User1 will only see the details of the original set of Linux computer systems. 

D.User1 will see the details of both the original set of Linux computer systems and the newly 

discovered systems. 

Correct Answers: C 

 

3: You suspect that an IBM Tivoli Application Dependency and Discovery Manager V7.1 process 

is having memory problems. Which action should be taken first to determine if the application has 

failed because of an out of memory condition? 

A.check the log/services/core.log file 

B.check for core.<pid> files in the bin directory 

C.check the core.XXX.XXX.XXX.dmp files found in the log directory 

D.check the service log file of the service suspected of running out of memory 

Correct Answers: B 

 

4: Which api command is used to delete all configuration items from the IBM Tivoli Application 

Dependency and Discovery Manager V7.1  topology? 

A.api.sh -u <userid> -p <password> delete all 

B.api.sh -u <userid> -p <password> topology clear 

C.api.sh -u <userid> -p <password> topology delete all 

D.api.sh -u <userid> -p <password> collation topology all 

Correct Answers: B 

 

5: Which log settings are available in IBM Tivoli Application Dependency and Discovery 

Manager V7.1? 

A.ERROR, WARN, INFO, DEBUG, EXTRA, OFF 

B.DEBUG, INFO, WARN, EXTRA, TRACE, NONE 

C.FATAL, ERROR, WARN, INFO, DEBUG, TRACE 

D.INFO, DEBUG, WARN, TRACE, EXTRA, MINIMUM 



Correct Answers: C 

 

6: Which command found in the support/bin directory can be used in testing whether an IBM 

Tivoli Application Dependency and Discovery Manager V7.1 has valid access credentials for a 

UNIX machine? 

A.testssh.py 

B.wmiscan.jy 

C.encryptprops.sh 

D.testconnection.sh 

Correct Answers: A 

 

7: Which command is used to test SSH? 

A.UNIX: sshtest.sh <ip> or Windows: sshtest.bat <ip> 

B.UNIX: testssh.sh <ip> or Windows: testssh.cmd <ip> 

C.UNIX: execssh.sh <host> or Windows: execssh.bat <host> 

D.UNIX: testssh.py <command> or Windows: testssh.bat <command> 

Correct Answers: D 

 

8: What is the effect of turning on the SplitSensorLog setting? 

A.Messages from sensors are in separate folders with a file for each discovery. 

B.Messages from sensors are in separate files within a folder for each discovery. 

C.Messages from sensors are grouped by log levels and placed in files within a folder for each 

discovery. 

D.Messages from sensors are in separate files in the folder Log/sensors that contains only the 

latest discovery. 

Correct Answers: B 

 

9: Which parameter in the collation.properties file holds the value that is used by Jetty HTTPS 

server, GUI HTTPS server, and is required  for adding domains to the IBM Tivoli Application 

Dependency and Discovery Manager V7.1 Enterprise Server? 

A.com.collation.websslport 

B.com.collation.commsslport 

C.com.collation.sslpassphrase 

D.com.collation.JettyGui.sslpwd 

Correct Answers: C 

 

10: What are two available application descriptor file format types? (Choose two.) 

A.base application descriptor 

B.module application descriptor 

C.component application descriptor 

D.hardware server application descriptor 

E.application server application descriptor 

Correct Answers: A C 

  



11: In which directory is encryptprops.sh located? 

A.<COLLATION_HOME>/bin 

B.<COLLATION_HOME>/etc/bin 

C.<COLLATION_HOME>/support/bin 

D.<COLLATION_HOME>/support/scripts 

Correct Answers: C 

 

12: A customer wants to run credential free discoveries using Nmap. There is a firewall between 

the IBM Tivoli Application Dependency and Discovery Manager V7.1 (TADDM) server and the 

target machines. Which operating system combination is valid for the customer? 

A.TADDM server and anchor server are on AIX 

B.TADDM server on Solaris and anchor server on Linux 

C.TADDM server on Linux and anchor server on Windows 2000 Server 

D.TADDM server on Windows 2000 Server and anchor server on Linux 

Correct Answers: B 

 

13: At a client site, the firewall between the IBM Tivoli Application Dependency and Discovery 

Manager V7.1 (TADDM) Domain Server and the targeted Windows and UNIX systems has only 

SSH port 22 and WMI port 135 open. At a minimum, which additional TADDM components are 

needed? 

A.A gateway server is only required on the side of the targeted systems. 

B.A gateway server is required on the same side as the TADDM Domain Server. 

C.No anchor servers or gateway servers are needed since SSH and WMI ports are open. 

D.An anchor server and a gateway server are required on the side of the targeted systems. 

Correct Answers: D 

 

14: IBM Tivoli Application Dependency and Discovery Manager V7.1 (TADDM) requires two 

database user accounts. What is the purpose of one of the TADDM user accounts? 

A.TADDM database archiving 

B.synchronizing TADDM data with other Tivoli products 

C.TADDM database synchronization to a TADDM server 

D.database archiving and synchronization to the TADDM Enterprise Server 

Correct Answers: A 

 

15: An IBM Tivoli Application Dependency Discovery Manager 7.1 (TADDM) server reports that 

all TADDM processes are running. However, the Product Console from a client machine is unable 

to establish a connection to the TADDM server, reporting that the server is not running.  

Which parameter in the collation.properties file needs to be changed from default to an IP address 

to enable the Product Console to connect to the server? 

A.com.collation.jini.rmi.ip.address 

B.com.collation.java.rmi.server.hostname 

C.com.collation.clientproxy.rmi.server.hostname 

D.com.collation.platform.os.RemoteHostDNSLookup 

Correct Answers: C 



 

16: When should Perform Full Synchronization be selected when performing domain 

synchronization? 

A.once a week 

B.once a month 

C.on the very first domain synchronization 

D.every time a manual synchronization is done 

Correct Answers: C 

 

17: What are two requirements to discover Linux systems? (Choose two.) 

 

A.lsof must be run with a password challenge. 

B.lsof must be run without a password challenge. 

C.A non-root user account with bash shell is required. 

D.A non-root user account with Bourne shell is required. 

E.Root user privilege must be used to install WMI modules. 

Correct Answers: B D  

 

18: Which report should be run to help identify patterns to use in the Custom Server Template? 

A.Other Servers 

B.Custom Query 

C.Unknown Servers 

D.Dormant Components 

Correct Answers: C 

 

19: Which two settings affect the messages in the folder log/sensors? (Choose two.) 

A.com.collation.log.level 

B.com.collation.log.level.vm.DbInit 

C.com.collation.log.level.vm.Tomcat 

D.com.collation.log.level.vm.Discover 

E.com.collation.log.level.vm.EventsCore 

Correct Answers: A D  

 

20: Which two sensors require access credentials? (Choose two.) 

A.CCMDBSensor 

B.PortScanSensor 

C.StackScanSensor 

D.WebSphereNodeSensor 

E.WindowsComputerSystemsSensor 

Correct Answers: D E  

 


